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X K L@ 30 10 3 13 0.43 0.40
INLE L@ 30 3 7 10 0.33 0.37
KERX K% L@ 30 11 2 13 0.43 0.20
HEAXRX T BT =Pl 30 3 2 5 0.17 0.27
NEH =& 30 3 2 5 0.17 0.13
285K 25 L@ 30 9 5 14 0.47 0.28
4B X pNII TR 30 4 4 8 0.27 0.33
BIX v T@ 60 16 8 24 0.40 0.31
BERxX B TiE 60 13 7 20 0.33 0.58
BN LS ES L& 30 4 1 5 0.17 0.13
TIFRNX IR TR 60 22 13 35 0.58 0.58
B/ L@ 30 15 4 19 0.63 0.22
ST v )| TR 60 16 13 29 0.48 0.46
FF e Bx L@ 30 6 4 10 0.33 0.15
B Lo TR 30 4 8 0.27 0.37
ETET™ ET H TR 60 23 21 44 0.73 0.53
BE™ B =Pl 30 14 3 17 0.57 0.30
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<FEER>
IRK FE=EE [SES 30 2 4 6 0.20 0.20
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B AT S [SE 3 30 1 3 4 0.13 0.23
Eimh FEREE [SES 30 2 5 7 0.23 0.53
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FINE FRINTHE BR-ET 30 7 0 7 0.23 0.17
4B X tEETX A 30 4 0 4 0.13 0.23
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HEAXX E= ESES 30 5 0 5 0.17 0.27
Fitx Bx Bx 30 13 6 19 0.63 0.50
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Infd miEE= LTE-Bx 30 17 6 23 0.77 0.53
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E2AKX = Ex 60 14 9 23 0.38 0.40
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pN::] 3 TR L@ 30 1 1 2 0.07 0.17
EEIR 30 7 1 8 0.27 0.23
X RS =Pt 60 13 14 27 0.45 0.58
REX RIEHEE =Pt 30 5 4 9 0.30 0.33
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